Intro to college math: Chapter 2.3
Solving Linear Equations in one Variable

* Linear equation one one variable: any equation that can be put in the form Ax + B = C.

* Contradiction: if the left side can never equal the right side. There is no solution.
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* Identity: if the left side is always identically equal to the right side. The solution is “all real numbers”.
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1. Solve the following equation for the given variable. > (_‘X,- | ) = -

m - \5
d(x- 1D = <\_/ * First use distributive property to get rid of ().

Multiply the term outside the () by both terms

Jey -3 = -19 inside the ().
4%
& t5 * Then move the number on the left to the right by

doing the opposite (add/subtract).

dx = - \Q
X * Then divide both sides by the number in front of
D the variable.




2. Solve the following equation for the given variable. a (t-\y, + l> -39

* First use distributive property to get rid of ().

(1) = -29
a () > - S~V Multiply the term outside the () by both terms

inside the ()
Yo +3d =-39
-0 -9 * Then move the number on the left to the right by
doing the opposite (add/subtract).

g a = ‘Q L—‘ N * Then divide both sides by the number in front of

= the variable.
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3. Solve the following equation for the given variable. -\¢ = 3(Ho,+I )

-\§ = @a)

* First use distributive property to get rid of ().

-y = 1 Qoo + (.0 Multiply the negative sign outside the () by both
“ b \ terms inside the ()
* Then move the number on the right to the left by
- 3’4( & doing the opposite (add/subtract).
\ 8 Q \ * Then divide both sides by the number in front of
the variable.
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4. Solve the following equation for the given variable. 5 = -3 (_L\ \:\ - \)
SEICIN
N \ * First use distributive property to get rid of ().
Multiply the negative sign outside the () by both
|9 = —\D\é .}.3) terms inside the ().

-3 - 5 N* Then move the number on the right to the left by

doing the opposite (add/subtract).

2 = —1Quy o . .
S * Then divide both sides by the number in front of
19 —49 < — the variable.



5. Solve the following equation for the given variable. t - (Q Et+ 5) = -

m - - * First use distributive property to get rid of ().
£ - &g S '\'5) \ N/ Multiply the negative sign outside the () by both

terms inside the ().

E-at-9=-\ <=
- — \ * Then combine like terms on either side of the equal

sign.

— - -
\ t 3 % S \/ * Then move the number on the left to the right by

doing the opposite (add/subtract).

-x \ E = L‘\ * Then divide both sides by the number in front of
—\ "_'I < ———— thevariable.

6. Solve the following equation for the given variable. - a% — L?)'L + 5) - 9 0

* First use distributive property to get rid of ().

AN N
- (3D = A0
Multiply the term outside the () by both terms

-QN - DY -5 = QO ‘\/ inside the ().
* Then combine like terms on either side of the equal

- 5 48 S Q O * Then move the number on the left to the right by
{ge) < doing the opposite (add/subtract).

- 5 = * Then divide both sides by the number in front of
———rx' S K~ the variable.
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7. Solve the following equation for the given variable. 3 (_3.\_ ID+3: 9
AN _
2 (u+a)+rd =9 | . |
\3\ * First use distributive property to get rid of ().
- Multiply the term outside the () by both terms
2 Y + ki \—E’i A \ inside the ().
2 \“5 r1 = q‘ * Then combine like terms on either side of the equal
-1 <\/ * Then move the number on the left to the right by
doing the opposite (add/subtract).
A q \/ * Then divide both sides by the number in front of
A the variable.




8. Solve the following equation for the given variable. 3 QY- q) +\=- e

/N O\
5 Lgh(} - Lb .\_\ = -—8 <\_/ * First use distributive property to get rid of ().

Multiply the term outside the () by both terms

\9%_\2 +\ —’8 inside the ().
o \ * Then combine like terms on either side of the
Qn -\ = -8 equal sign.

\ +1\ N* Then move the number on the left to the right

+\
by doing the opposite (add/subtract).
|2y =3

— N* Then divide both sides by the number in front of
LA (Q the variable.
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9. Solve the following equation. - 0,5 (4g +1) = 0.9 (2- Qi‘)

{

SN Ay
-0.5 (."H: ol ) = 0 '5(-5-3{:> <_\_, * First use distributive property to get rid of ().

_ Multiply the term outside the () by both terms

‘Q}; ‘O.c:) = 1.5 — 1K inside the ().
L
F\E \t N <\ * I\/(Ijodve the valgable on the right to the left by
adding or subtracting.
-\ -0.5= 1.5
+0.5 0.5 £ ~__ * Then move the number on the left to the right
' ) by doing the opposite (add/subtract).
- \'l'J = Q * Then divide both sides by the number in front of

— <~ the variable.
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10. Solve the following equation.  — 9 L%%J,.D =3 Q'\_lZD + L\

NN Ay

-2 BS \-\) = 3(“\ - L\D +v & " First use distributive property to get rid of ().
o 9 -3 +q !\/Iu_léipl%th(e)term outside the () by both terms
“y-3 = -3y \ inside the ().

og-n - | -

373 = 13y o

* Combine like terms on either side of the - sign.

* Move the variable on the right to the left by

3 U\ 4'3u\ adding or subtracting.
-3 L\>) -0 = { lp * Then move the number on the left to the right by
¥9 +9 < doing the opposite (add/subtract).

-3 | € /—\* Then divide both sides by the number in front of

—]— k) - the variable.
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